
 

 .32/B/1 1 P.T.O. 

narjmWu H$moS >H$mo CÎma-nwpñVH$m Ho$ _wI-n¥ð 
>na Adí` {bIo§ & 
Candidates must write the Code on the 

title page of the answer-book. 

   H$moS> Z§.      

 Code No. 

amob Z§. 
Roll No. 
 

 

 

 ZmoQ>  NOTE 

(I) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV 
n¥ð> 17 + 1 _mZ{MÌ h¢ & 

(I) Please check that this question 

paper contains 17 printed pages  

+ 1 Map. 

(II) àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS 
>Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

(II) Code number given on the right 

hand side of the question paper 

should be written on the title page of 

the answer-book by the candidate. 

(III) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _|  
>35 àíZ h¢ & 

(III) Please check that this question 

paper contains 35 questions. 

(IV) H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go 
nhbo, CÎma-nwpñVH$m _| àíZ H$m H«$_m§H$ 
Adí` {bI| &  

(IV) Please write down the Serial Number 

of the question in the answer-book 

before attempting it. 

(V) Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m 
g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU 
nydm©• _| 10.15 ~Oo {H$`m OmEJm &   
10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db 
àíZ-nÌ H$mo n‹T>|Jo Am¡a Bg Ad{Y Ho$ Xm¡amZ 
do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

(V) 15 minute time has been allotted to 

read this question paper. The 

question paper  will  be  distributed 

at 10.15 a.m. From 10.15 a.m. to 

10.30 a.m., the students will  

read the question paper only and  

will not write any answer on the 

answer-book during this period. 
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{ZYm©[aV g_` : 3 KÊQ>o     A{YH$V_ A§H$ : 80 

Time allowed : 3 hours Maximum Marks : 80  
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gm_mÝ` {ZX}e : 

{ZåZ{b{IV {ZX}em| H$mo ~hþV gmdYmZr go n{‹T>E Am¡a CZH$m g™Vr go nmbZ H$s{OE : 

(i) àíZ-nÌ Mma IÊS>m| _| {d^m{OV {H$`m J`m h¡  H$, I, J Ed§ K & Bg àíZ-nÌ _| àíZm| H$s 
g§»`m 35 h¡ & g^r  àíZ A{Zdm`© h¢ & 

(ii) IÊS> H$ _| àíZ g§»`m 1 go 20 VH$ A{V bKw-CÎmar` àH$ma Ho$ àíZ h¢, àË`oH$ àíZ 1 A§H$ H$m 
h¡ &  

(iii) IÊS> I _| àíZ g§»`m 21 go 28 VH$ bKw-CÎmar` àH$ma Ho$ àíZ h¢, àË`oH$ àíZ 3 A§H$m| H$m  
h¡ & àË`oH$ àíZ H$m CÎma 80 eãXm| _| {b{IE &  

(iv) IÊS> J _| àíZ g§»`m 29 go 34 VH$ XrK©-CÎmar` àH$ma Ho$ àíZ h¢, àË`oH$ àíZ 5 A§H$m| H$m  
h¡ & àË`oH$ àíZ H$m CÎma 120 eãXm| _| {b{IE &  

(v) IÊS> K _| àíZ g§»`m 35 _mZ{MÌ AmYm[aV h¡ & `h àíZ 6 A§H$ H$m h¡, Omo {H$ B{Vhmg go 
(35(a) – 2 A§H$) VWm ^yJmob (35(b) – 4 A§H$) go g§~§{YV h¡ &  

(vi) CÎma g§{já VWm {~ÝXþdma hmoZo Mm{hE Am¡a gmW hr Cn ẁ©º$ eãX gr_m H$m `Wmg§^d nmbZ 
H$s{OE &  

(vii) àíZ-nÌ _| g_J« na H$moB© {dH$ën Zht h¡ & VWm{n, Hw$N> àíZm| _| Am§V[aH$ {dH$ën {XE JE  
h¢ & Eogo àíZm| _| go Ho$db EH$ hr {dH$ën H$m CÎma {b{IE &  

(viii) _mZ{MÌ H$mo AnZr CÎma-nwpñVH$m Ho$ gmW ZËWr H$s{OE &  

(ix) BgHo$ A{V[aº$, Amdí`H$VmZwgma, àË`oH$ IÊS> Am¡a àíZ Ho$ gmW `Wmo{MV {ZX}e {XE JE h¢ & 

  

IÊS> H$ 

1. {ZåZ{b{IV ZoVmAm| _| go {H$gZo EH$ Jwá g§JR>Z ‘`§J BQ>br’ ~Zm`m ? 1 

(A) {dŠQ>a B_oZwEb {ÛVr` 

(B) Á`wgono _opËgZr 

(C) H¢$Q> H$mdya 

(D) Á`wgono J¡ar~m°ëS>r 
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General Instructions : 

Read the following instructions very carefully and strictly follow them : 

(i) Question paper comprises four sections  A, B, C and D. There are  

35 questions in the question paper. All questions are compulsory.  

(ii) Section A – Question nos. 1 to 20 are very short answer type questions, 

carrying 1 mark each. 

(iii) Section B – Question nos. 21 to 28 are short answer type questions, carrying  

3 marks each. Answer to each question should not exceed 80 words. 

(iv) Section C – Question nos. 29 to 34 are long answer type questions, carrying  

5 marks each. Answer to each question should not exceed 120 words. 

(v) Section D – Question nos. 35 is map based, carrying 6 marks with two parts, 

35(a) from History (2 marks) and 35(b) from Geography (4 marks). 

(vi) Answers should be brief and to the point; also the above word limit be adhered 

to as far as possible.  

(vii) There is no overall choice in the question paper. However, an internal choice 

has been provided in few questions. Only one of the choices in such questions 

have to be attempted.  

(viii) Attach map along with your answer-book. 

(ix) In addition to this, separate instructions are given with each section and 

question, wherever necessary.    

 

SECTION A 

 

1. Who among the following leaders formed a secret society called ‘Young  

Italy’ ? 1 

(A) Victor Emmanuel II 

(B) Giuseppe Mazzini 

(C) Count Cavour  

(D) Giuseppe Garibaldi  
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2. {~«Q>oZ Ho$ amḯ>-amÁ` Ho$ {Z_m©U go g§~§{YV {ZåZ{b{IV KQ>ZmAm| H$mo H$mbH«$_mZwgma ì`dpñWV 
H$s{OE$: 1 

I. B§½b¢S> Am¡a ñH$m°Q>b¢S> Ho$ ~rM EoŠQ> Am°µ\$ `y{Z`Z & 

II. Am±½b g§gX Zo amOV§Ì go VmµH$V N>rZr & 

III. Am`ab¢S> H$mo ~bnyd©H$ `yZmBQ>oS> qH$JS>_ _| em{_b H$aZm & 

IV. {~«{Q>e à^md Ho$ {déÕ H¡$W{bH$ {dÐmoh & 

{dH$ën : 

(A) III – I – II – IV 

(B) I – II – III – IV 

(C) IV – I – II – III 

(D) II – I – IV – III 

3. ____________ EH$ Eogm joÌ Wm, {Og_| ^m¡Jmo{bH$ Am¡a OmVr` {^ÞVmE± Wt Omo AmYw{ZH$ 

amo_m{Z`m, ~wëJo[a`m, Aë~o{Z`m, `yZmZ, _o{gS>mo{Z`m, H«$moE{e`m Am¡a ~mopñZ`m-hµO}Jmo{dZm go 

~Zm Wm & 1 

                                         AWdm 
1815 _|, {dEZm gå_obZ H$s _oµO~mZr ___________ Ûmam H$s JB© &  1 

4. Am°Q>mo dmZ {~ñ_mH©$ H$mo O_©Z EH$sH$aU H$m OZH$ Š`m| _mZm J`m Wm ?  {ZåZ{b{IV _| go 
ghr {dH$ën H$m M`Z H$s{OE : 1 

(A) CgZo BQ>br Am¡a \«$m±g Ho$ gmW EH$sH$aU à{H«$`m Ho$ {bE gh_{V ì`º$ H$s & 

(B) CgZo ê${‹T>dm{X`m| Ho$ gmW àem H$mo ñdm`ÎmVm àXmZ H$s & 

(C) CgZo amï´>-{Z_m©U à{H«$`m _| goZm Am¡a Zm¡H$aemhr H$s _XX br & 

(D) dh CXmadmXr Am¡a amo_m§{Q>H$ {dÛmZm| H$mo gm§ñH¥${VH$ Am§XmobZ Ho$ {bE gmW boH$a 
Mbm & 

5. Cg gm_«mÁ` H$m Zm_ {b{IE {OgZo AR>mahdt gXr _| Am°pñQ´>`m Am¡a h§Jar na emgZ  
{H$`m & 1 

6. `mohmZ JwQ>oÝ~J© Ûmam N>mnr JB© nhbr nwñVH$ H$m Zm_ {b{IE & 1 
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2. Arrange the following events related to the formation of nation-state of 

Britain in chronological order : 1 

I. Act of Union between England and Scotland. 

II. English Parliament seized power from Monarchy. 

III. Ireland was forcibly incorporated into the United Kingdom. 

IV. Catholic revolt against British dominance. 

Options : 

(A) III – I – II – IV 

(B) I – II – III – IV 

(C) IV – I – II – III 

(D) II – I – IV – III 

3. The ___________ was a region of geographical and ethnic variations 

comprising modern day Romania, Bulgaria, Albania, Greece, Macedonia, 

Croatia and Bosnia-Herzegovina.  1 

                       OR 

In 1815, Vienna Congress was hosted by the ___________ . 1 

4. Why was Otto von Bismarck considered as the chief architect of German 

unification ? Choose the correct option from the following : 1 

(A) He allianced with Italy and France for the unification process. 

(B) He granted autonomy to Prussia with Conservatives. 

(C) He carried the nation-building process with the army and the 

bureaucracy. 

(D) He carried Liberalist and Romantic scholars for cultural 

movement. 

5. Name the empire that ruled over Austria and Hungary in the eighteenth 

century. 1 

6. Name the first book printed by Johann Gutenberg. 1 
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7. {ZåZ{b{IV ñVå^ A Am¡a ñVå^ B _| go ghr Omo‹S>o H$m M`Z H$s{OE : 1 

 ñVå^ A  ñVå^ B 

(A) Á`mo{V~m \w$bo  ñÌr Y_© {dMma 

(B) amOm am_ _mohZ am`  g§dmX H$m¡_wXr 

(C) am_ M–m  Jwbm_{Jar 

(D) J§JmYa ^Å>mMm`©  N>moQ>o Am¡a ~‹S>o gdmb 

8. amîQ´>r` dZ Zr{V Ho$ {ZYm©aU Ho$ AZwgma nm[apñW{VH$s` gÝVwbZ ~ZmE aIZo Ho$ {bE 
^m¡Jmo{bH$ joÌ H$m {H$VZm à{VeV dZ joÌ Ano{jV h¡ ? 1 

9. {ZåZ{b{IV µ\$gbm| _| go H$m¡Z-gr ‘a~r eñ` G$Vw’ H$m CXmhaU h¡ ? 1 

(A) Va~yO 

(B) Iram 

(C) _¸$m 

(D) Om¡ 

10. AmU{dH$ D$Om© H$m {M{H$Ëgm Ho$ joÌ _| A{YH$V_ Cn`moJ H$aZo Ho$ {bE H$moB© EH$ Cnm` 
gwPmBE & 1 

                                               AWdm 

Amn AnZo {dÚmb` _| {~Obr H$m g§ajU {H$g àH$ma H$a gH$Vo h¢ ? H$moB© EH$ gwPmd 

Xr{OE & 1 

11. {ZåZ{b{IV _| go H$m¡Z-gm CÚmoJ ~m°ŠgmBQ> H$m Cn`moJ H$ƒo _mb Ho$ ê$n _| H$aVm h¡ ? 1 

(A) gr_|Q> 

(B) Eë`y{_{Z`_ àJbZ 
(C) bmohm Am¡a BñnmV 

(D) agm`Z 

12. ^maV _| H$m¡Z-gm g§JR>Z amÁ` _hm_mJm] H$mo ~ZmZo Am¡a aIaImd H$aZo Ho$ {bE CÎmaXm`r  
h¡ ? 1 

AWdm 
Cg g§JR>Z H$m Zm_ {b{IE Omo {Obm g‹S>H$m| H$m {Z_m©U H$aVm h¡ Am¡a aIaImd H$aVm h¡ & 1 



 

 .32/B/1 7 P.T.O. 

7. Select the correct pair from the following Column A and Column B :  1 

    Column A          Column B 

(A) Jyotiba Phule  Istri Dharm Vichar 

(B) Raja Ram Mohan Roy  Sambad Kaumudi 

(C) Ram Chaddha  Gulamgiri 

(D) Gangadhar Bhattacharya  Chhote Aur Bade Sawal 

8. How much percentage of forest area is desired in a geographical area to 

maintain ecological balance as outlined in the National Forest Policy ? 1 

9. Which one of the following crops is an example of Rabi cropping season ? 1 

(A) Watermelon 

(B) Cucumber 

(C) Maize 

(D) Barley 

10. Suggest any one way to maximize the use of nuclear energy in the field of 

medicine. 1 

                   OR 

How can you conserve electricity at your school ? Give any one 

suggestion. 1 

11. Which one of the following industries uses bauxite as a raw material ? 1 

(A) Cement 

(B) Aluminium smelting 

(C) Iron and Steel 

(D) Chemical 

12. Which organisation is responsible for constructing and maintaining State 

Highways in India ?  1 

                                 OR 

Name the organisation that constructs and maintains the District Roads.  1 
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13. ^maV Ho$ {dYm`r joÌ _| _{hbmAm| H$s gh^m{JVm ~‹T>mZo Ho$ {bE H$moB© EH$ Cnm` gwPmBE & 1 

14. H$WZ H$mo ghr H$aHo$ {b{IE : 1 

 ^maV, ñnoZ Am¡a ~opëO`_ ‘gmW AmH$a g§K’ ~ZmZo Ho$ CXmhaU h¢ &  

                                          AWdm 

g§K gaH$ma Ho$ gmW-gmW amÁ` gaH$ma| amÁ` gyMr Ho$ {df`m| O¡go dZ, ì`mnma g§K, {ddmh, 
BË`m{X na H$mZyZ ~Zm gH$Vr h¢ & 1 

15. {ZåZ{b{IV H$WZ Ho$ {bE EH$ nm[a^m{fH$ eãX {b{IE : 1 

 ‘‘EH$ ì`{º$ Omo EH$ Xb `m g_yh Ho$ gmW _µO~yVr Ho$ gmW g_{n©V hmoVm h¡ &’’  

16. gÎmm H$s gmPoXmar bmoH$V§Ì H$s ghr ^mdZm h¡ Š`m|{H$ ____________ & 1 

17. {ZåZ{b{IV _| go H$m¡Z-gm {dH$ën AXm`Jr gw{ZpíMV H$aVm h¡ ? 1 

(A) dmCMa 

(B) _m±J O_m 

(C) MoH$ 

(D) gmW©H$ G$UmYma 

18. ‘‘h[aVm AnZo H$m`m©b` _| àmV: 9:30 go gm`§ 5:30 ~Oo VH$ H$m`©aV ahVr h¡ & dh ha 

_hrZo Ho$ AÝV _| {Z`{_V doVZ nmVr h¡ & doVZ Ho$ A{V[aº$, dh ^{dî` {Z{Y Am¡a gaH$ma 

Ûmam {ZYm©[aV {Z`_mZwgma AÝ` gw{dYmE± ^r àmá H$aVr h¡ &’’  

 Cg amoµOJma joÌH$ H$s nhMmZ H$s{OE {Og_| h[aVm H$m ©̀ H$a ahr h¡ & 1 

19. {díd ì`mnma g§JR>Z AÝVam©ï´>r` ì`mnma Ho$ g§X^© _| {Z`_ ñWm{nV H$aVm h¡ & {díd ì`mnma 

g§JR>Z Ho$ {Z`_m| Zo Xoem| Ho$ ì`mnma ~§YZm| H$mo hQ>mZo Ho$ {bE ~b {X`m & BgH$m H$maU 

____________ hmo gH$Vm h¡ & 1 

20. ‘‘_mZm {H$ {H$gr Xoe H$s Am¡gV Am` g_` Ho$ gmW Zht ~‹T> ahr h¡, bo{H$Z Xoe H$s amï´>r` 

Am` Ho$ [aH$m°S>© _| d¥{Õ {XImB© XoVr h¡ &’’ `h pñW{V Š`m Xem©Vr h¡ ? 1 
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13. Suggest any one way to increase the participation of women in the 

legislative domain of India.  1 

14. Rewrite the correct statement :  1 

 India, Spain and Belgium are examples of ‘Coming Together Federation’. 

                                OR 

The Union Government as well as the State Governments can make laws 

on State subjects like forest, trade unions, marriage, etc. 1 

15. Give one technical term for the following statement : 1 

 ‘‘A person who is strongly committed to a party or group.’’ 

16. Power sharing is the very spirit of democracy because ____________ . 1 

17. Which one of the following options provides assured payment ? 1 

(A) Voucher 

(B) Demand Deposit 

(C) Cheque 

(D) Collateral 

18. ‘‘Harita attends her office from 9:30 am to 5:30 pm. She gets her salary 

regularly at the end of every month. In addition to the salary, she also 

gets Provident Fund and other facilities as per the rules laid down by the 

Government.’’  

 Identify the employment sector in which Harita is working. 1 

19. WTO establishes rules regarding international trade. WTO rules have 

forced the countries to remove trade barriers. The reason could be 

__________ . 1 

20. ‘‘Suppose the average income of a country is not being increased over 

time but the records of the National Income show a rise.’’ What does this 

situation signify ? 1 
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IÊS> I  

21. ZrMo {XE JE òmoVm| H$mo n{‹T>E Am¡a CZHo$ ZrMo {XE JE àíZm| Ho$ CÎma {b{IE : 

 òmoV A – Z_H$ `mÌm Am¡a g{dZ` Adkm Am§XmobZ 

 Xoe H$mo EH$OwQ> H$aZo Ho$ {bE _hmË_m Jm±Yr H$mo Z_H$ EH$ e{º$embr àVrH$ {XImB© {X`m & 

31 OZdar, 1930 H$mo CÝhm|Zo dm`gam` Ba{dZ H$mo EH$ ˜V {bIm & Bg ˜V _| CÝhm|Zo  

11 _m±Jm| H$m C„oI {H$`m Wm & BZ_| go Hw$N> gm_mÝ` _m±J| Wt O~{H$ Hw$N> _m±J| CÚmoJn{V`m| 

go boH$a {H$gmZm| VH$ {d{^Þ V~µH$m| go Ow‹S>r Wt & 

 òmoV ~ – bmoJ§m| Zo Am§XmobZ H$mo H¡$go {b`m 

 Jm±dm| _§o g§nÞ {H$gmZ g_wXm` – O¡go JwOamV Ho$ nQ>rXma Am¡a CÎma àXoe Ho$  

OmQ> – Am§XmobZ _| g{H«$` Wo & ì`mdgm{`H$ µ\$gbm| H$s IoVr H$aZo Ho$ H$maU ì`mnma _| _§Xr 

Am¡a {JaVr µH$s_Vm| go do ~hþV naoemZ Wo & 

 òmoV g – g{dZ` Adkm AmÝXmobZ H$s gr_mE± 

 O~ g{dZ` Adkm Am§XmobZ ewê$ hþAm Cg g_` g_wXm`m| Ho$ ~rM g§Xoh Am¡a A{dídmg H$mo 

_mhm¡b ~Zm hþAm Wm & 

(21.1) òmoV A – Z_H$ `mÌm Am¡a g{dZ` Adkm Am§XmobZ 

 Z_H$ H$mZyZ Ho$ à{V Jm±YrOr Zo {H$g àH$ma à{V{H«$`m ì`º$ H$s ? 1 

(21.2) òmoV ~ – bmoJ§m| Zo Am§XmobZ H$mo H¡$go {b`m 

 g§nÞ {H$gmZ g{dZ` Adkm Am§XmobZ Ho$ g_W©H$ Š`m| hþE ? 1 

(21.3) òmoV g – g{dZ` Adkm AmÝXmobZ H$s gr_mE± 

 g{dZ` Adkm Am§XmobZ H$s gr_mAm| H$s naI H$s{OE & 1 
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SECTION B 

21. Read the sources given below and answer the questions that follow :  

 Source A  The Salt March and The Civil Disobedience Movement 

Mahatma Gandhi found in salt a powerful symbol that could unite the 

nation. On 31st January, 1930, he sent a letter to Viceroy Irwin stating 

eleven demands. Some of these were of general interest; while others 

were specific demands of different classes, from industrialists to 

peasants.  

Source B  How Participants saw the Movement 

In the countryside, rich peasant communities  like the Patidars of 

Gujarat and Jats of Uttar Pradesh  were active in the movement. Being 

producers of commercial crops, they were very hard hit by trade 

depression and falling prices. 

Source C  The limits of Civil Disobedience Movement 

When the Civil Disobedience Movement started there was an atmosphere 

of suspicion and distrust between communities. 

(21.1) Source A  The Salt March and the Civil Disobedience  

                                   Movement 

 How did Gandhiji react to the Salt Law ? 1 

(21.2) Source B  How Participants saw the Movement 

Why did the rich peasants become supporters of the Civil 

Disobedience Movement ? 1 

(21.3) Source C  The limits of the Civil Disobedience Movement 

 Examine the limits of the Civil Disobedience Movement. 1 
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22. dZm©Š`yba àog EoŠQ>, 1878 Ho$ AÝVJ©V A§J«oµOm| Ûmam CR>mE JE H$X_m| H$s naI H$s{OE & 3 

23. ‘‘g^r àH$ma Ho$ OrdZ Ho$ ApñVËd H$mo ~ZmE aIZo Ho$ {bE g§gmYZ {Z`moOZ A{Zdm`© h¡ &’’ 

Bg H$WZ H$s CXmhaUm| g{hV nw{ï> H$s{OE & 3 

AWdm 

{h_mb` joÌ _| ^y{_ {ZåZrH$aU H$s g_ñ`m H$mo hb H$aZo Ho$ Cnm`m| H$mo CXmhaUm| g{hV 

ñnï> H$s{OE & 3 

24. JwUdÎmm Ho$ AmYma na E|W«mgmBQ> Am¡a {~Qw>{_Zg H$mo`bm| _§o AÝVa ñnï> H$s{OE & 3 

25. g§KdmX H$s {H$Ýht VrZ _w»` {deofVmAm| H$m dU©Z H$s{OE & 3 

                                          AWdm 

^maVr` g§KdmX H$s {H$Ýht VrZ _w»` {deofVmAm| H$m dU©Z H$s{OE & 3  

26. ^maV _| Y_©-{ZanojdmX Ho$ àmdYmZm| H$m dU©Z H$s{OE & 3 

27. Xoe Ho$ Am{W©H$ {dH$mg _| gmd©O{ZH$ joÌH$ H$s ^y{_H$m H$m dU©Z H$s{OE & 3 

28. ñd`§-ghm`Vm g_yh J«m_rU {ZY©Zm| H$mo g§J{R>V H$aZo _| _XX H$aVo h¢ & gm_m{OH$ _m_bm| Ho$ 

{bE BÝh| bmoH${à` ~ZmZo Ho$ {bE H$moB© VrZ Cnm` gwPmBE & 3  

IÊS> J 

29. ~rgdt gXr Ho$ àmaå^ _| ^maV na _hm_§Xr Ho$ à^mdm| H$mo ñnîQ> H$s{OE & 5 

                                                   AWdm 

 AR>mahdt gXr Ho$ Xm¡amZ ^maVr` ~wZH$am| na Am¡ÚmoJrH$aU Ho$ à^mdm| H$mo ñnï> H$s{OE & 5 
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22. Examine the steps taken by the British under the Vernacular Press Act, 

1878. 3 

23. ‘‘Resource Planning is essential for sustainable existence of all forms of 

life.’’ Support the statement with examples. 3 

                                    OR 

Explain with examples, the ways to solve the problem of land 

degradation in the Himalayan region. 3 

24. Differentiate between anthracite and bituminous coal on the basis of 

quality. 3 

25. Describe any three key features of federalism. 3 

             OR 

Describe any three key features of Indian federalism. 3 

26. Describe the provisions of Secularism in India. 3 

27. Describe the role of public sector in the economic development of the 

country.  3 

28. Self-Help Groups are the building blocks of organisation of the rural poor. 

Suggest any three ways to make them popular for social issues. 3 

 

SECTION C 

29. Explain the impact of the Great Depression on India during the early 

twentieth century. 5 

OR 

 Explain the impact of Industrialisation on the Indian weavers during the 

eighteenth century. 5 
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30. ‘‘g‹S>H$ n[adhZ aob n[adhZ H$s Anojm ~ohVa h¡ &’’ Bg H$WZ H$mo Ý`m`g§JV R>hamBE &   5 

31. ^maVr` bmoH$V§Ì ì`dñWm _| amOZr{VH$ Xbm| H$s ^y{_H$m H$m dU©Z H$s{OE & 5 

                                          AWdm 

 bmoH$V§Ì _| amOZr{VH$ Xbm| H$s Amdí`H$Vm H$m dU©Z H$s{OE & 5 

32. ZrMo {XE JE CÕaU H$mo n{‹T>E Am¡a CgHo$ ZrMo {XE JE àíZm| H$m CÎma {b{IE : 

ì`{º$ H$s J[a_m Am¡a AmµOmXr Ho$ _m_bo _| bmoH$Vm§{ÌH$ ì`dñWm {H$gr ^r AÝ` emgZ 

àUmbr go H$mµ\$s AmJo h¡ & àË`oH$ ì`{º$ AnZo gmW Ho$ bmoJm| go gå_mZ nmZm MmhVm h¡ & 

AŠga, Q>H$amd V^r n¡Xm hmoVo h¢ O~ Hw$N> bmoJm| H$mo bJVm h¡ {H$ CZHo$ gmW gå_mZ H$m 

ì`dhma Zht {H$`m J`m & J[a_m Am¡a AmµOmXr H$s Mmh hr bmoH$V§Ì H$m AmYma h¡ & Xþ{Z`m 

^a H$s bmoH$Vm§{ÌH$ ì`dñWmE± Bg MrµO H$mo _mZVr h¢ – H$_-go-H$_ {gÕm§V Ho$ Vm¡a na Vmo 

µOê$a & AbJ-AbJ bmoH$Vm§{ÌH$ ì`dñWmAm| _| BZ ~mVm| na AbJ-AbJ ñVa H$m AmMaU 

hmoVm h¡ &  

(32.1) bmoH$V§Ì, emgZ H$s AÝ` ì`dñWmAm| go Š`m| ~ohVa h¡ ? ñnï> H$s{OE & 2 

(32.2) J[a_m Am¡a AmµOmXr H$s Mmh hr bmoH$V§Ì H$m AmYma Š`m| h¡ ? CXmhaUm| g{hV ñnï> 

H$s{OE & 3 

33. d¡ídrH$aU Ho$ à^mdm| H$mo CXmhaUm| g{hV ñnï> H$s{OE & 5 

                                     AWdm 

 ‘‘àm¡Úmo{JH$s _| Vrd« CÞ{V Zo d¡ídrH$aU H$s à{H«$`m H$mo CËào[aV {H$`m h¡ &’’ Bg H$WZ H$s 

CXmhaUm| g{hV ì`m»`m H$s{OE & 5 

34. ‘‘dV©_mZ g_` _| {dH$mg H$s YmaUr`Vm EH$ {ZUm©`H$ nhby h¡ &’’ Bg H$WZ H$s CXmhaUm| 

g{hV nw{ï> H$s{OE & 5 
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30. ‘‘Roadways have an edge over the Railways.’’ Justify the statement. 5 

31. Describe the role of political parties in Indian democracy. 5 

OR 

 Describe the necessity of political parties in democracy. 5 

32. Read the following extract and answer the questions that follow : 

 Democracy stands much superior to any other form of government in 

promoting dignity and freedom of the individual. Every individual wants 

to receive respect from fellow beings. Often, conflicts arise among 

individuals because some feel that they are not treated with due respect. 

The passion for respect and freedom are the basis of democracy. 

Democracies thoughtout the world have recognised this, at least in 

principle. This has been achieved in various degrees in various 

democracies.  

(32.1) Why does democracy stand superior to any other form of 

government ? Explain. 2 

(32.2) Why is the passion for respect and freedom the basis of 

democracy ? Explain with examples. 3 

33. Explain the impact of Globalization with examples. 5 

                   OR 

‘‘Rapid improvement in technology has stimulated the globalization 

process.’’ Explain the statement with examples. 5 

34. ‘‘Sustainability of development is a crucial aspect in present times.’’ 

Support the statement with examples. 5 
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IÊS> K  

35. (a) Xmo ñWmZ A Am¡a B {XE JE ^maV Ho$ amOZr{VH$ aoIm-_mZ{MÌ (n¥ð> 19 na), _| 

A§{H$V {H$E JE h¢ & BZ ñWmZm| H$mo {ZåZ{b{IV OmZH$mar H$s ghm`Vm go nhMm{ZE 

Am¡a CZHo$ ghr Zm_ CZHo$ {ZH$Q> ItMr JBª aoImAm| na {b{IE : 12=2 

 A. dh ñWmZ Ohm± O{b`m±dmbm ~mJ KQ>Zm K{Q>V hþB© &    

 B. dh ñWmZ Ohm± Zrb H$s IoVr H$aZo dmbm| Zo gË`mJ«h ewê$ {H$`m & 

(b) Bgr {XE JE ^maV Ho$ amOZr{VH$ aoIm-_mZ{MÌ _| {ZåZ{b{IV _| go {H$Ýht Mma  

H$mo Cn ẁº$ {M•m| go Xem©BE Am¡a CZHo$ Zm_ {b{IE :   14=4 

 (i) _rZmå~ŠH$_ — AÝVam©îQ´>r` hdmB© nÎmZ 

 (ii) h¡Xam~mX — gm°âQ>do`a Q>oŠZmobm°Or nmH©$ 

 (iii) {dO`ZJa — bmohm Ed§ BñnmV g§`§Ì  

 (iv) Vmamnwa >— AmpÊdH$ D$Om© g§`§Ì 

 (v) hramHw$S> >— ~m±Y 

 (vi) H$mo{ƒ — g_wÐr nÎmZ 

ZmoQ> :  {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE àíZ g§»`m 35 Ho$ ñWmZ na  
h¢ & {H$Ýht N>… àíZm| Ho$ CÎma {b{IE : 

(35.1) Cg eha H$m Zm_ {b{IE Ohm± O{b`m±dmbm ~mJ KQ>Zm K{Q>V hþB© &  

(35.2) Cg ñWmZ H$m Zm_ {b{IE Ohm± Zrb H$s IoVr H$aZo dmbm| Zo 1918 _| gË`mJ«h 
{H$`m & 

(35.3) Cg ñWmZ H$m Zm_ {b{IE Ohm± ^maVr` amï´>r` H$m±J«og H$m A{YdoeZ {gV§~a, 
1920 _| hþAm & 

(35.4) Cg amÁ` H$m Zm_ {b{IE Ohm± amOm gm§gr AÝVam©îQ´>r` hdmB© nÎmZ pñWV h¡ & 

(35.5) Cg amÁ` H$m Zm_ {b{IE Ohm± {^bmB© bmohm Ed§ BñnmV g§`§Ì pñWV h¡ & 

(35.6) Cg amÁ` H$m Zm_ {b{IE Ohm± Vmamnwa AmpÊdH$ D$Om© g§`§Ì pñWV h¡ & 

(35.7) Cg amÁ` H$m Zm_ {b{IE Ohm± nmamXrn g_wÐr nÎmZ pñWV h¡ & 

(35.8) Cg gm°âQ>do`a Q>oŠZmobm°Or nmH©$ H$m Zm_ {b{IE Omo Vob§JmZm _| pñWV h¡ & 1 6=6 
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SECTION D 

 

35. (a) Two places A and B are marked on the given political outline map 

of India (on page 19). Identify these places with the help of the 

following information and write their correct names on the lines 

marked near them :  12=2 

 A. The place where Jallianwala Bagh incident took place. 

 B. The place where Indigo Planters started the Satyagraha. 

(b) On the same political outline map of India locate and label any four 

of the following with suitable symbols :  14=4 

 (i) Meenambakkam — International Airport  

 (ii) Hyderabad — Software Technology Park   

 (iii) Vijayanagar — Iron and Steel Plant   

 (iv) Tarapur — Nuclear Power Plant    

 (v) Hirakud — Dam   

 (vi) Kochi — Sea-port  

  

Note :  The following questions are for the Visually Impaired Candidates 

only, in lieu of Q. No. 35. Attempt any six questions : 

(35.1) Name the city where Jallianwala Bagh incident took place.  

(35.2) Name the place where Indigo Planters went for Satyagraha in 

1918.  

(35.3) Name the place where the Indian National Congress (INC) 

session of September, 1920 was held.   

(35.4) Name the State where  Raja Sansi International Airport is 

located.  

(35.5) Name the State where Bhilai Iron and Steel Plant is located.  

(35.6) Name the State where Tarapur Nuclear Power Plant is located.   

(35.7) Name the State where Paradip Sea-port is located.    

(35.8) Name the Software Technology Park located in Telangana. 16=6  
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àíZ g§. 35 Ho$ {bE  For question no. 35 

 

^maV H$m aoIm-_mZ{MÌ (amOZr{VH$) 
Outline Map of India (Political) 

 

B 

A 
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narjmWu H$moS >H$mo CÎma-nwpñVH$m Ho$ _wI-n¥ð 
>na Adí` {bIo§ & 
Candidates must write the Code on the 

title page of the answer-book. 

   H$moS> Z§.      

 Code No. 

amob Z§. 
Roll No. 
 

 

 

 ZmoQ>  NOTE 

(I) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV 
n¥ð> 17 + 1 _mZ{MÌ h¢ & 

(I) Please check that this question 

paper contains 17 printed pages  

+ 1 Map. 

(II) àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS 
>Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

(II) Code number given on the right 

hand side of the question paper 

should be written on the title page of 

the answer-book by the candidate. 

(III) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _|  
>35 àíZ h¢ & 

(III) Please check that this question 

paper contains 35 questions. 

(IV) H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go 
nhbo, CÎma-nwpñVH$m _| àíZ H$m H«$_m§H$ 
Adí` {bI| &  

(IV) Please write down the Serial Number 

of the question in the answer-book 

before attempting it. 

(V) Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m 
g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU 
nydm©• _| 10.15 ~Oo {H$`m OmEJm &   
10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db 
àíZ-nÌ H$mo n‹T>|Jo Am¡a Bg Ad{Y Ho$ Xm¡amZ 
do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

(V) 15 minute time has been allotted to 

read this question paper. The 

question paper  will  be  distributed 

at 10.15 a.m. From 10.15 a.m. to 

10.30 a.m., the students will  

read the question paper only and  

will not write any answer on the 

answer-book during this period. 

 gm_m{OH$ {dkmZ  
SOCIAL SCIENCE 

{ZYm©[aV g_` : 3 KÊQ>o     A{YH$V_ A§H$ : 80 

Time allowed : 3 hours Maximum Marks : 80  

32/C/2 
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gm_mÝ` {ZX}e : 

{ZåZ{b{IV {ZX}em| H$mo ~hþV gmdYmZr go n{‹T>E Am¡a CZH$m g™Vr go nmbZ H$s{OE : 

(i) àíZ-nÌ Mma IÊS>m| _| {d^m{OV {H$`m J`m h¡  H$, I, J Ed§ K & Bg àíZ-nÌ _| àíZm| H$s 
g§»`m 35 h¡ & g^r  àíZ A{Zdm`© h¢ & 

(ii) IÊS> H$ _| àíZ g§»`m 1 go 20 VH$ A{V bKw-CÎmar` àH$ma Ho$ àíZ h¢, àË`oH$ àíZ 1 A§H$ H$m 
h¡ &  

(iii) IÊS> I _| àíZ g§»`m 21 go 28 VH$ bKw-CÎmar` àH$ma Ho$ àíZ h¢, àË`oH$ àíZ 3 A§H$m| H$m  
h¡ & àË`oH$ àíZ H$m CÎma 80 eãXm| _| {b{IE &  

(iv) IÊS> J _| àíZ g§»`m 29 go 34 VH$ XrK©-CÎmar` àH$ma Ho$ àíZ h¢, àË`oH$ àíZ 5 A§H$m| H$m  
h¡ & àË`oH$ àíZ H$m CÎma 120 eãXm| _| {b{IE &  

(v) IÊS> K _| àíZ g§»`m 35 _mZ{MÌ AmYm[aV h¡ & `h àíZ 6 A§H$ H$m h¡, Omo {H$ B{Vhmg go 
(35(a) – 2 A§H$) VWm ^yJmob (35(b) – 4 A§H$) go g§~§{YV h¡ &  

(vi) CÎma g§{já VWm {~ÝXþdma hmoZo Mm{hE Am¡a gmW hr Cn ẁ©º$ eãX gr_m H$m `Wmg§^d nmbZ 
H$s{OE &  

(vii) àíZ-nÌ _| g_J« na H$moB© {dH$ën Zht h¡ & VWm{n, Hw$N> àíZm| _| Am§V[aH$ {dH$ën {XE JE  
h¢ & Eogo àíZm| _| go Ho$db EH$ hr {dH$ën H$m CÎma {b{IE &  

(viii) _mZ{MÌ H$mo AnZr CÎma-nwpñVH$m Ho$ gmW ZËWr H$s{OE &  

(ix) BgHo$ A{V[aº$, Amdí`H$VmZwgma, àË`oH$ IÊS> Am¡a àíZ Ho$ gmW `Wmo{MV {ZX}e {XE JE h¢ & 

IÊS> H$ 

1. ‘‘_mZm {H$ {H$gr Xoe H$s Am¡gV Am` g_` Ho$ gmW Zht ~‹T> ahr h¡, bo{H$Z Xoe H$s amï´>r` 

Am` Ho$ [aH$m°S>© _| d¥{Õ {XImB© XoVr h¡ &’’ `h pñW{V Š`m Xem©Vr h¡ ? 1 

2. {ZåZ{b{IV _| go H$m¡Z-gm {dH$ën AXm`Jr gw{ZpíMV H$aVm h¡ ? 1 

(A) dmCMa 

(B) _m±J O_m 

(C) MoH$ 

(D) gmW©H$ G$UmYma 
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General Instructions : 

Read the following instructions very carefully and strictly follow them : 

(i) Question paper comprises four sections  A, B, C and D. There are  

35 questions in the question paper. All questions are compulsory.  

(ii) Section A – Question nos. 1 to 20 are very short answer type questions, 

carrying 1 mark each. 

(iii) Section B – Question nos. 21 to 28 are short answer type questions, carrying  

3 marks each. Answer to each question should not exceed 80 words. 

(iv) Section C – Question nos. 29 to 34 are long answer type questions, carrying  

5 marks each. Answer to each question should not exceed 120 words. 

(v) Section D – Question nos. 35 is map based, carrying 6 marks with two parts, 

35(a) from History (2 marks) and 35(b) from Geography (4 marks). 

(vi) Answers should be brief and to the point; also the above word limit be adhered 

to as far as possible.  

(vii) There is no overall choice in the question paper. However, an internal choice 

has been provided in few questions. Only one of the choices in such questions 

have to be attempted.  

(viii) Attach map along with your answer-book. 

(ix) In addition to this, separate instructions are given with each section and 

question, wherever necessary.    

 

SECTION A 

1. ‘‘Suppose the average income of a country is not being increased over 

time but the records of the National Income show a rise.’’ What does this 

situation signify ? 1 

2. Which one of the following options provides assured payment ? 1 

(A) Voucher 

(B) Demand Deposit 

(C) Cheque 

(D) Collateral 
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3. ‘‘h[aVm AnZo H$m`m©b` _| àmV: 9:30 go gm`§ 5:30 ~Oo VH$ H$m`©aV ahVr h¡ & dh ha 

_hrZo Ho$ AÝV _| {Z`{_V doVZ nmVr h¡ & doVZ Ho$ A{V[aº$, dh ^{dî` {Z{Y Am¡a gaH$ma 

Ûmam {ZYm©[aV {Z`_mZwgma AÝ` gw{dYmE± ^r àmá H$aVr h¡ &’’  

 Cg amoµOJma joÌH$ H$s nhMmZ H$s{OE {Og_| h[aVm H$m ©̀ H$a ahr h¡ & 1 

4. {díd ì`mnma g§JR>Z AÝVam©ï´>r` ì`mnma Ho$ g§X^© _| {Z`_ ñWm{nV H$aVm h¡ & {díd ì`mnma 

g§JR>Z Ho$ {Z`_m| Zo Xoem| Ho$ ì`mnma ~§YZm| H$mo hQ>mZo Ho$ {bE ~b {X`m & BgH$m H$maU 
____________ hmo gH$Vm h¡ & 1 

5. 1861 _| {H$go EH$sH¥$V BQ>br H$m amOm Kmo{fV {H$`m J`m Wm ? 1 

6. Om{V ì`dñWm Ho$ AÝ`m` Ho$ {déÕ H$mer~m~m Ûmam {bIr JB© nwñVH$ H$m Zm_ {b{IE & 1 

7. {ZåZ{b{IV H$WZ Ho$ {bE EH$ nm[a^m{fH$ eãX {b{IE : 1 

 ‘‘EH$ ì`{º$ Omo EH$ Xb `m g_yh Ho$ gmW _µO~yVr Ho$ gmW g_{n©V hmoVm h¡ &’’  

8. {ZåZ{b{IV ZoVmAm| _| go {H$gZo EH$ Jwá g§JR>Z ‘`§J BQ>br’ ~Zm`m ?  1 

(A) {dŠQ>a B_oZwEb {ÛVr` 

(B) Á`wgono _opËgZr 

(C) H¢$Q> H$mdya 

(D) Á`wgono J¡ar~m°ëS>r 

9. {~«Q>oZ Ho$ amḯ>-amÁ` Ho$ {Z_m©U go g§~§{YV {ZåZ{b{IV KQ>ZmAm| H$mo H$mbH«$_mZwgma ì`dpñWV 
H$s{OE$: 1 

I. B§½b¢S> Am¡a ñH$m°Q>b¢S> Ho$ ~rM EoŠQ> Am°µ\$ `y{Z`Z & 

II. Am±½b g§gX Zo amOV§Ì go VmµH$V N>rZr & 

III. Am`ab¢S> H$mo ~bnyd©H$ `yZmBQ>oS> qH$JS>_ _| em{_b H$aZm & 

IV. {~«{Q>e à^md Ho$ {déÕ H¡$W{bH$ {dÐmoh & 

{dH$ën : 

(A) III – I – II – IV 

(B) I – II – III – IV 

(C) IV – I – II – III 

(D) II – I – IV – III 
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3. ‘‘Harita attends her office from 9:30 am to 5:30 pm. She gets her salary 

regularly at the end of every month. In addition to the salary, she also 

gets Provident Fund and other facilities as per the rules laid down by the 

Government.’’  

 Identify the employment sector in which Harita is working. 1 

4. WTO establishes rules regarding international trade. WTO rules have 

forced the countries to remove trade barriers. The reason could be 

__________ . 1 

5. Who was proclaimed as King of United Italy in 1861 ?  1 

6. Name the book written by Kashibaba against injustices of the Caste 

system. 1 

7. Give one technical term for the following statement : 1 

 ‘‘A person who is strongly committed to a party or group.’’ 

8. Who among the following leaders formed a secret society called ‘Young  

Italy’ ? 1 

(A) Victor Emmanuel II 

(B) Giuseppe Mazzini 

(C) Count Cavour  

(D) Giuseppe Garibaldi  

9. Arrange the following events related to the formation of nation-state of 

Britain in chronological order : 1 

I. Act of Union between England and Scotland. 

II. English Parliament seized power from Monarchy. 

III. Ireland was forcibly incorporated into the United Kingdom. 

IV. Catholic revolt against British dominance. 

Options : 

(A) III – I – II – IV 

(B) I – II – III – IV 

(C) IV – I – II – III 
(D) II – I – IV – III 
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10. ____________ EH$ Eogm joÌ Wm, {Og_| ^m¡Jmo{bH$ Am¡a OmVr` {^ÞVmE± Wt Omo AmYw{ZH$ 

amo_m{Z`m, ~wëJo[a`m, Aë~o{Z`m, `yZmZ, _o{gS>mo{Z`m, H«$moE{e`m Am¡a ~mopñZ`m-hµO}Jmo{dZm go 

~Zm Wm & 1 

                                         AWdm 

1815 _|, {dEZm gå_obZ H$s _oµO~mZr ___________ Ûmam H$s JB© &  1 

11. AmU{dH$ D$Om© H$m {M{H$Ëgm Ho$ joÌ _| A{YH$V_ Cn`moJ H$aZo Ho$ {bE H$moB© EH$ Cnm` 

gwPmBE & 1 

                                               AWdm 

Amn AnZo {dÚmb` _| {~Obr H$m g§ajU {H$g àH$ma H$a gH$Vo h¢ ? H$moB© EH$ gwPmd 

Xr{OE & 1 

12. {ZåZ{b{IV µ\$gbm| _| go H$m¡Z-gr ‘a~r eñ` G$Vw’ H$m CXmhaU h¡ ? 1 

(A) Va~yO 

(B) Iram 

(C) _¸$m 

(D) Om¡ 

13. amîQ´>r` dZ Zr{V Ho$ {ZYm©aU Ho$ AZwgma nm[apñW{VH$s` gÝVwbZ ~ZmE aIZo Ho$ {bE 

^m¡Jmo{bH$ joÌ H$m {H$VZm à{VeV dZ joÌ Ano{jV h¡ ? 1 

14. {ZåZ{b{IV ñVå^ A Am¡a ñVå^ B _| go ghr Omo‹S>o H$m M`Z H$s{OE : 1 

 ñVå^ A  ñVå^ B 

(A) Á`mo{V~m \w$bo  ñÌr Y_© {dMma 

(B) amOm am_ _mohZ am`  g§dmX H$m¡_wXr 

(C) am_ M–m  Jwbm_{Jar 

(D) J§JmYa ^Å>mMm`©  N>moQ>o Am¡a ~‹S>o gdmb 
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10. The ___________ was a region of geographical and ethnic variations 

comprising modern day Romania, Bulgaria, Albania, Greece, Macedonia, 

Croatia and Bosnia-Herzegovina.  1 

                       OR 

In 1815, Vienna Congress was hosted by the ___________ . 1 

11. Suggest any one way to maximize the use of nuclear energy in the field of 

medicine. 1 

                   OR 

How can you conserve electricity at your school ? Give any one 

suggestion. 1 

12. Which one of the following crops is an example of Rabi cropping season ? 1 

(A) Watermelon 

(B) Cucumber 

(C) Maize 

(D) Barley 

13. How much percentage of forest area is desired in a geographical area to 

maintain ecological balance as outlined in the National Forest Policy ? 1 

14. Select the correct pair from the following Column A and Column B :  1 

    Column A          Column B 

(A) Jyotiba Phule  Istri Dharm Vichar 

(B) Raja Ram Mohan Roy  Sambad Kaumudi 

(C) Ram Chaddha  Gulamgiri 

(D) Gangadhar Bhattacharya  Chhote Aur Bade Sawal 
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15. Am°Q>mo dmZ {~ñ_mH©$ H$mo O_©Z EH$sH$aU H$m OZH$ Š`m| _mZm J`m Wm ?  {ZåZ{b{IV _| go 
ghr {dH$ën H$m M`Z H$s{OE : 1 

(A) CgZo BQ>br Am¡a \«$m±g Ho$ gmW EH$sH$aU à{H«$`m Ho$ {bE gh_{V ì`º$ H$s & 

(B) CgZo ê${‹T>dm{X`m| Ho$ gmW àem H$mo ñdm`ÎmVm àXmZ H$s & 

(C) CgZo amï´>-{Z_m©U à{H«$`m _| goZm Am¡a Zm¡H$aemhr H$s _XX br & 

(D) dh CXmadmXr Am¡a amo_m§{Q>H$ {dÛmZm| H$mo gm§ñH¥${VH$ Am§XmobZ Ho$ {bE gmW boH$a 
Mbm & 

16. gÎmm H$s gmPoXmar g^r àH$ma H$s gaH$mam| Ho$ {bE AÀN>r h¡ Š`m|{H$ ______________ & 1 

17. {ZåZ{b{IV _| go H$m¡Z-gm CÚmoJ ~m°ŠgmBQ> H$m Cn`moJ H$ƒo _mb Ho$ ê$n _| H$aVm h¡ ? 1 

(A) gr_|Q> 

(B) Eë`y{_{Z`_ àJbZ 

(C) bmohm Am¡a BñnmV 

(D) agm`Z 

18. ^maV _| H$m¡Z-gm g§JR>Z amÁ` _hm_mJm] H$mo ~ZmZo Am¡a aIaImd H$aZo Ho$ {bE CÎmaXm`r  
h¡ ? 1 

AWdm 

Cg g§JR>Z H$m Zm_ {b{IE Omo {Obm g‹S>H$m| H$m {Z_m©U H$aVm h¡ Am¡a aIaImd H$aVm h¡ & 1 

19. ^maV Ho$ {dYm`r joÌ _| _{hbmAm| H$s gh^m{JVm ~‹T>mZo Ho$ {bE H$moB© EH$ Cnm` gwPmBE & 1 

20. H$WZ H$mo ghr H$aHo$ {b{IE : 1 

 ^maV, ñnoZ Am¡a ~opëO`_ ‘gmW AmH$a g§K’ ~ZmZo Ho$ CXmhaU h¢ &  

                                          AWdm 

g§K gaH$ma Ho$ gmW-gmW amÁ` gaH$ma| amÁ` gyMr Ho$ {df`m| O¡go dZ, ì`mnma g§K, {ddmh, 
BË`m{X na H$mZyZ ~Zm gH$Vr h¢ & 1 
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15. Why was Otto von Bismarck considered as the chief architect of German 

unification ? Choose the correct option from the following : 1 

(A) He allianced with Italy and France for the unification process. 

(B) He granted autonomy to Prussia with Conservatives. 

(C) He carried the nation-building process with the army and the 

bureaucracy. 

(D) He carried Liberalist and Romantic scholars for cultural 

movement. 

16. Power sharing is good for all kinds of Governments because ___________ . 1 

17. Which one of the following industries uses bauxite as a raw material ? 1 

(A) Cement 

(B) Aluminium smelting 

(C) Iron and Steel 

(D) Chemical 

18. Which organisation is responsible for constructing and maintaining State 

Highways in India ?  1 

                                 OR 

Name the organisation that constructs and maintains the District Roads.  1 

19. Suggest any one way to increase the participation of women in the 

legislative domain of India. 1 

20. Rewrite the correct statement :  1 

 India, Spain and Belgium are examples of ‘Coming Together Federation’. 

                                OR 

The Union Government as well as the State Governments can make laws 

on State subjects like forest, trade unions, marriage, etc. 1 
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IÊS> I 

21. ñd`§-ghm`Vm g_yh J«m_rU {ZY©Zm| H$mo g§J{R>V H$aZo _| _XX H$aVo h¢ & gm_m{OH$ _m_bm| Ho$ 

{bE BÝh| bmoH${à` ~ZmZo Ho$ {bE H$moB© VrZ Cnm` gwPmBE & 3 

22. g§KdmX H$s {H$Ýht VrZ _w»` {deofVmAm| H$m dU©Z H$s{OE & 3 

                                          AWdm 

^maVr` g§KdmX H$s {H$Ýht VrZ _w»` {deofVmAm| H$m dU©Z H$s{OE & 3  

23. ZrMo {XE JE òmoVm| H$mo n{‹T>E Am¡a CZHo$ ZrMo {XE JE àíZm| Ho$ CÎma {b{IE : 

 òmoV A – Z_H$ `mÌm Am¡a g{dZ` Adkm Am§XmobZ 

 Xoe H$mo EH$OwQ> H$aZo Ho$ {bE _hmË_m Jm±Yr H$mo Z_H$ EH$ e{º$embr àVrH$ {XImB© {X`m & 

31 OZdar, 1930 H$mo CÝhm|Zo dm`gam` Ba{dZ H$mo EH$ ˜V {bIm & Bg ˜V _| CÝhm|Zo  

11 _m±Jm| H$m C„oI {H$`m Wm & BZ_| go Hw$N> gm_mÝ` _m±J| Wt O~{H$ Hw$N> _m±J| CÚmoJn{V`m| 

go boH$a {H$gmZm| VH$ {d{^Þ V~µH$m| go Ow‹S>r Wt & 

 òmoV ~ – bmoJ§m| Zo Am§XmobZ H$mo H¡$go {b`m 

 Jm±dm| _§o g§nÞ {H$gmZ g_wXm` – O¡go JwOamV Ho$ nQ>rXma Am¡a CÎma àXoe Ho$  

OmQ> – Am§XmobZ _| g{H«$` Wo & ì`mdgm{`H$ µ\$gbm| H$s IoVr H$aZo Ho$ H$maU ì`mnma _| _§Xr 

Am¡a {JaVr µH$s_Vm| go do ~hþV naoemZ Wo & 

 òmoV g – g{dZ` Adkm AmÝXmobZ H$s gr_mE± 

 O~ g{dZ` Adkm Am§XmobZ ewê$ hþAm Cg g_` g_wXm`m| Ho$ ~rM g§Xoh Am¡a A{dídmg H$mo 

_mhm¡b ~Zm hþAm Wm & 



 

 .32/B/2 11 P.T.O. 

SECTION B 

21. Self-Help Groups are the building blocks of organisation of the rural poor. 

Suggest any three ways to make them popular for social issues. 3 

22. Describe any three key features of federalism. 3 

             OR 

Describe any three key features of Indian federalism. 3 

23. Read the sources given below and answer the questions that follow :  

 Source A  The Salt March and The Civil Disobedience Movement 

Mahatma Gandhi found in salt a powerful symbol that could unite the 

nation. On 31st January, 1930, he sent a letter to Viceroy Irwin stating 

eleven demands. Some of these were of general interest; while others 

were specific demands of different classes, from industrialists to 

peasants.  

Source B  How Participants saw the Movement 

In the countryside, rich peasant communities  like the Patidars of 

Gujarat and Jats of Uttar Pradesh  were active in the movement. Being 

producers of commercial crops, they were very hard hit by trade 

depression and falling prices. 

Source C  The limits of Civil Disobedience Movement 

When the Civil Disobedience Movement started there was an atmosphere 

of suspicion and distrust between communities. 
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(23.1) òmoV A – Z_H$ `mÌm Am¡a g{dZ` Adkm Am§XmobZ 

 Z_H$ H$mZyZ Ho$ à{V Jm±YrOr Zo {H$g àH$ma à{V{H«$`m ì`º$ H$s ? 1 

(23.2) òmoV ~ – bmoJ§m| Zo Am§XmobZ H$mo H¡$go {b`m 

 g§nÞ {H$gmZ g{dZ` Adkm Am§XmobZ Ho$ g_W©H$ Š`m| hþE ? 1 

(23.3) òmoV g – g{dZ` Adkm AmÝXmobZ H$s gr_mE± 

 g{dZ` Adkm Am§XmobZ H$s gr_mAm| H$s naI H$s{OE & 1 

24. àË`oH$ H$m CXmhaU XoVo hþE YmpËdH$ I{ZOm| H$m dJuH$aU H$s{OE & 3 

25. dZm©Š`yba àog EoŠQ>, 1878 Ho$ AÝVJ©V A§J«oµOm| Ûmam CR>mE JE H$X_m| H$s naI H$s{OE & 3 

26. Om{V ì`dñWm _| amOZr{V Ho$ à^md H$m dU©Z H$s{OE & 3 

27. Ag§J{R>V joÌH$ _| H$m`© H$aZo H$s XemAm| H$m dU©Z H$s{OE & 3 

28. ‘‘g^r àH$ma Ho$ OrdZ Ho$ ApñVËd H$mo ~ZmE aIZo Ho$ {bE g§gmYZ {Z`moOZ A{Zdm`© h¡ &’’ 

Bg H$WZ H$s CXmhaUm| g{hV nw{ï> H$s{OE & 3 

AWdm 

{h_mb` joÌ _| ^y{_ {ZåZrH$aU H$s g_ñ`m H$mo hb H$aZo Ho$ Cnm`m| H$mo CXmhaUm| g{hV 

ñnï> H$s{OE & 3 

IÊS> J 

29. d¡ídrH$aU Ho$ à^mdm| H$mo CXmhaUm| g{hV ñnï> H$s{OE & 5 

                                     AWdm 

 ‘‘àm¡Úmo{JH$s _| Vrd« CÞ{V Zo d¡ídrH$aU H$s à{H«$`m H$mo CËào[aV {H$`m h¡ &’’ Bg H$WZ H$s 

CXmhaUm| g{hV ì`m»`m H$s{OE & 5 
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(23.1) Source A  The Salt March and the Civil Disobedience  

                                   Movement 

 How did Gandhiji react to the Salt Law ? 1 

(23.2) Source B  How Participants saw the Movement 

Why did the rich peasants become supporters of the Civil 

Disobedience Movement ? 1 

(23.3) Source C  The limits of the Civil Disobedience Movement 

 Examine the limits of the Civil Disobedience Movement. 1 

24. Classify Metallic minerals with an example of each. 3 

25. Examine the steps taken by the British under the Vernacular Press Act, 

1878. 3 

26. Describe the influence of Politics in the Caste system. 3 

27. Describe the working conditions in the unorganised sector. 3 

28. ‘‘Resource Planning is essential for sustainable existence of all forms of 

life.’’ Support the statement with examples. 3 

                                    OR 

Explain with examples, the ways to solve the problem of land 

degradation in the Himalayan region. 3 

 

SECTION C 

29. Explain the impact of Globalization with examples. 5 

                   OR 

‘‘Rapid improvement in technology has stimulated the globalization 

process.’’ Explain the statement with examples. 5 
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30. ‘‘g§Mma ì`dñWm _Zmoa§OZ àXmZ H$aVr h¡ Am¡a OZVm _| OmJ«{V n¡Xm H$aVr h¡ &’’ Bg H$WZ 

H$mo Ý`m`mo{MV {gÕ H$s{OE & 5 

31. ~rgdt gXr Ho$ àmaå^ _| ^maV na _hm_§Xr Ho$ à^mdm| H$mo ñnîQ> H$s{OE & 5 

                                                   AWdm 

 AR>mahdt gXr Ho$ Xm¡amZ ^maVr` ~wZH$am| na Am¡ÚmoJrH$aU Ho$ à^mdm| H$mo ñnï> H$s{OE & 5 

32. ^maVr` bmoH$V§Ì ì`dñWm _| amOZr{VH$ Xbm| H$s ^y{_H$m H$m dU©Z H$s{OE & 5 

                                          AWdm 

 bmoH$V§Ì _| amOZr{VH$ Xbm| H$s Amdí`H$Vm H$m dU©Z H$s{OE & 5 

33. ZrMo {XE JE CÕaU H$mo n{‹T>E Am¡a CgHo$ ZrMo {XE JE àíZm| H$m CÎma {b{IE : 

ì`{º$ H$s J[a_m Am¡a AmµOmXr Ho$ _m_bo _| bmoH$Vm§{ÌH$ ì`dñWm {H$gr ^r AÝ` emgZ 

àUmbr go H$mµ\$s AmJo h¡ & àË`oH$ ì`{º$ AnZo gmW Ho$ bmoJm| go gå_mZ nmZm MmhVm h¡ & 
AŠga, Q>H$amd V^r n¡Xm hmoVo h¢ O~ Hw$N> bmoJm| H$mo bJVm h¡ {H$ CZHo$ gmW gå_mZ H$m 

ì`dhma Zht {H$`m J`m & J[a_m Am¡a AmµOmXr H$s Mmh hr bmoH$V§Ì H$m AmYma h¡ & Xþ{Z`m 

^a H$s bmoH$Vm§{ÌH$ ì`dñWmE± Bg MrµO H$mo _mZVr h¢ – H$_-go-H$_ {gÕm§V Ho$ Vm¡a na Vmo 
µOê$a & AbJ-AbJ bmoH$Vm§{ÌH$ ì`dñWmAm| _| BZ ~mVm| na AbJ-AbJ ñVa H$m AmMaU 

hmoVm h¡ &  

(33.1) bmoH$V§Ì, emgZ H$s AÝ` ì`dñWmAm| go Š`m| ~ohVa h¡ ? ñnï> H$s{OE & 2 

(33.2) J[a_m Am¡a AmµOmXr H$s Mmh hr bmoH$V§Ì H$m AmYma Š`m| h¡ ? CXmhaUm| g{hV ñnï> 

H$s{OE & 3 

34. ‘‘Xoem| Ho$ {dH$mg Ho$ _mnZ Ho$ {bE ‘g§`wº$ amï´> {dH$mg H$m`©H«$_’ (`y.EZ.S>r.nr.) Ûmam à`wº$ 

{H$`m J`m _mZXÊS> ‘{díd ~¢H$’ Ûmam à`wº$ _mZXÊS> go {^Þ h¡ &’’ Bg H$WZ H$s CXmhaUm| 

g{hV nw{îQ> H$s{OE & 5 
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30. ‘‘Communication provides entertainment and creates awareness among 

masses.’’ Justify the statement. 5 

31. Explain the impact of the Great Depression on India during the early 

twentieth century. 5 

OR 

 Explain the impact of Industrialisation on the Indian weavers during the 

eighteenth century. 5 

32. Describe the role of political parties in Indian democracy. 5 

OR 

 Describe the necessity of political parties in democracy. 5 

33. Read the following extract and answer the questions that follow : 

 Democracy stands much superior to any other form of government in 

promoting dignity and freedom of the individual. Every individual wants 

to receive respect from fellow beings. Often, conflicts arise among 

individuals because some feel that they are not treated with due respect. 

The passion for respect and freedom are the basis of democracy. 

Democracies thoughtout the world have recognised this, at least in 

principle. This has been achieved in various degrees in various 

democracies.  

(33.1) Why does democracy stand superior to any other form of 

government ? Explain. 2 

(33.2) Why is the passion for respect and freedom the basis of 

democracy ? Explain with examples. 3 

34. ‘‘The criterion used by the United Nations Development Programme 

(UNDP) is different from the one used by the World Bank for measuring 

development of countries.’’ Support the statement with examples.  5 
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IÊS> K  

35. (a) Xmo ñWmZ A Am¡a B {XE JE ^maV Ho$ amOZr{VH$ aoIm-_mZ{MÌ (n¥ð> 19 na), _| 

A§{H$V {H$E JE h¢ & BZ ñWmZm| H$mo {ZåZ{b{IV OmZH$mar H$s ghm`Vm go nhMm{ZE 

Am¡a CZHo$ ghr Zm_ CZHo$ {ZH$Q> ItMr JBª aoImAm| na {b{IE : 12=2 

 A. dh ñWmZ Ohm± O{b`m±dmbm ~mJ KQ>Zm K{Q>V hþB© &    

 B. dh ñWmZ Ohm± Zrb H$s IoVr H$aZo dmbm| Zo gË`mJ«h ewê$ {H$`m & 

(b) Bgr {XE JE ^maV Ho$ amOZr{VH$ aoIm-_mZ{MÌ _| {ZåZ{b{IV _| go {H$Ýht Mma  

H$mo Cn ẁº$ {M•m| go Xem©BE Am¡a CZHo$ Zm_ {b{IE :   14=4 

 (i) _rZmå~ŠH$_ — AÝVam©îQ´>r` hdmB© nÎmZ 

 (ii) h¡Xam~mX — gm°âQ>do`a Q>oŠZmobm°Or nmH©$ 

 (iii) {dO`ZJa — bmohm Ed§ BñnmV g§`§Ì  

 (iv) Vmamnwa >— AmpÊdH$ D$Om© g§`§Ì 

 (v) hramHw$S> >— ~m±Y 

 (vi) H$mo{ƒ — g_wÐr nÎmZ 

ZmoQ> :  {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE àíZ g§»`m 35 Ho$ ñWmZ na  
h¢ & {H$Ýht N>… àíZm| Ho$ CÎma {b{IE : 

(35.1) Cg eha H$m Zm_ {b{IE Ohm± O{b`m±dmbm ~mJ KQ>Zm K{Q>V hþB© &  

(35.2) Cg ñWmZ H$m Zm_ {b{IE Ohm± Zrb H$s IoVr H$aZo dmbm| Zo 1918 _| gË`mJ«h 
{H$`m & 

(35.3) Cg ñWmZ H$m Zm_ {b{IE Ohm± ^maVr` amï´>r` H$m±J«og H$m A{YdoeZ {gV§~a, 
1920 _| hþAm & 

(35.4) Cg amÁ` H$m Zm_ {b{IE Ohm± amOm gm§gr AÝVam©îQ´>r` hdmB© nÎmZ pñWV h¡ & 

(35.5) Cg amÁ` H$m Zm_ {b{IE Ohm± {^bmB© bmohm Ed§ BñnmV g§`§Ì pñWV h¡ & 

(35.6) Cg amÁ` H$m Zm_ {b{IE Ohm± Vmamnwa AmpÊdH$ D$Om© g§`§Ì pñWV h¡ & 

(35.7) Cg amÁ` H$m Zm_ {b{IE Ohm± nmamXrn g_wÐr nÎmZ pñWV h¡ & 

(35.8) Cg gm°âQ>do`a Q>oŠZmobm°Or nmH©$ H$m Zm_ {b{IE Omo Vob§JmZm _| pñWV h¡ & 1 6=6 
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SECTION D 

35. (a) Two places A and B are marked on the given political outline map 

of India (on page 19). Identify these places with the help of the 

following information and write their correct names on the lines 

marked near them :  12=2 

 A. The place where Jallianwala Bagh incident took place. 

 B. The place where Indigo Planters started the Satyagraha. 

(b) On the same political outline map of India locate and label any four 

of the following with suitable symbols :  14=4 

 (i) Meenambakkam — International Airport  

 (ii) Hyderabad — Software Technology Park   

 (iii) Vijayanagar — Iron and Steel Plant   

 (iv) Tarapur — Nuclear Power Plant    

 (v) Hirakud — Dam   

 (vi) Kochi — Sea-port  

  

Note :  The following questions are for the Visually Impaired Candidates 

only, in lieu of Q. No. 35. Attempt any six questions : 

(35.1) Name the city where Jallianwala Bagh incident took place.  

(35.2) Name the place where Indigo Planters went for Satyagraha in 

1918.  

(35.3) Name the place where the Indian National Congress (INC) 

session of September, 1920 was held.   

(35.4) Name the State where  Raja Sansi International Airport is 

located.  

(35.5) Name the State where Bhilai Iron and Steel Plant is located.  

(35.6) Name the State where Tarapur Nuclear Power Plant is located.   

(35.7) Name the State where Paradip Sea-port is located.   

(35.8) Name the Software Technology Park located in Telangana. 16=6  
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àíZ g§. 35 Ho$ {bE  For question no. 35 

 

^maV H$m aoIm-_mZ{MÌ (amOZr{VH$) 
Outline Map of India (Political) 

 

B 

A 
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narjmWu H$moS >H$mo CÎma-nwpñVH$m Ho$ _wI-n¥ð 
>na Adí` {bIo§ & 
Candidates must write the Code on the 

title page of the answer-book. 

   H$moS> Z§.      

 Code No. 

amob Z§. 
Roll No. 
 

 

 

 ZmoQ>  NOTE 

(I) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV 
n¥ð> 17 + 1 _mZ{MÌ h¢ & 

(I) Please check that this question 

paper contains 17 printed pages  

+ 1 Map. 

(II) àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS 
>Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

(II) Code number given on the right 

hand side of the question paper 

should be written on the title page of 

the answer-book by the candidate. 

(III) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _|  
>35 àíZ h¢ & 

(III) Please check that this question 

paper contains 35 questions. 

(IV) H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go 
nhbo, CÎma-nwpñVH$m _| àíZ H$m H«$_m§H$ 
Adí` {bI| &  

(IV) Please write down the Serial Number 

of the question in the answer-book 

before attempting it. 

(V) Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m 
g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU 
nydm©• _| 10.15 ~Oo {H$`m OmEJm &   
10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db 
àíZ-nÌ H$mo n‹T>|Jo Am¡a Bg Ad{Y Ho$ Xm¡amZ 
do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

(V) 15 minute time has been allotted to 

read this question paper. The 

question paper  will  be  distributed 

at 10.15 a.m. From 10.15 a.m. to 

10.30 a.m., the students will  

read the question paper only and  

will not write any answer on the 

answer-book during this period. 

 gm_m{OH$ {dkmZ  
SOCIAL SCIENCE 

{ZYm©[aV g_` : 3 KÊQ>o     A{YH$V_ A§H$ : 80 

Time allowed : 3 hours Maximum Marks : 80  

32/C/3 



 

 .32/B/3 2 

gm_mÝ` {ZX}e : 

{ZåZ{b{IV {ZX}em| H$mo ~hþV gmdYmZr go n{‹T>E Am¡a CZH$m g™Vr go nmbZ H$s{OE : 

(i) àíZ-nÌ Mma IÊS>m| _| {d^m{OV {H$`m J`m h¡  H$, I, J Ed§ K & Bg àíZ-nÌ _| àíZm| H$s 
g§»`m 35 h¡ & g^r  àíZ A{Zdm`© h¢ & 

(ii) IÊS> H$ _| àíZ g§»`m 1 go 20 VH$ A{V bKw-CÎmar` àH$ma Ho$ àíZ h¢, àË`oH$ àíZ 1 A§H$ H$m 
h¡ &  

(iii) IÊS> I _| àíZ g§»`m 21 go 28 VH$ bKw-CÎmar` àH$ma Ho$ àíZ h¢, àË`oH$ àíZ 3 A§H$m| H$m  
h¡ & àË`oH$ àíZ H$m CÎma 80 eãXm| _| {b{IE &  

(iv) IÊS> J _| àíZ g§»`m 29 go 34 VH$ XrK©-CÎmar` àH$ma Ho$ àíZ h¢, àË`oH$ àíZ 5 A§H$m| H$m  
h¡ & àË`oH$ àíZ H$m CÎma 120 eãXm| _| {b{IE &  

(v) IÊS> K _| àíZ g§»`m 35 _mZ{MÌ AmYm[aV h¡ & `h àíZ 6 A§H$ H$m h¡, Omo {H$ B{Vhmg go 
(35(a) – 2 A§H$) VWm ^yJmob (35(b) – 4 A§H$) go g§~§{YV h¡ &  

(vi) CÎma g§{já VWm {~ÝXþdma hmoZo Mm{hE Am¡a gmW hr Cn ẁ©º$ eãX gr_m H$m `Wmg§^d nmbZ 
H$s{OE &  

(vii) àíZ-nÌ _| g_J« na H$moB© {dH$ën Zht h¡ & VWm{n, Hw$N> àíZm| _| Am§V[aH$ {dH$ën {XE JE  
h¢ & Eogo àíZm| _| go Ho$db EH$ hr {dH$ën H$m CÎma {b{IE &  

(viii) _mZ{MÌ H$mo AnZr CÎma-nwpñVH$m Ho$ gmW ZËWr H$s{OE &  

(ix) BgHo$ A{V[aº$, Amdí`H$VmZwgma, àË`oH$ IÊS> Am¡a àíZ Ho$ gmW `Wmo{MV {ZX}e {XE JE h¢ & 

IÊS> H$ 

1. AmU{dH$ D$Om© H$m {M{H$Ëgm Ho$ joÌ _| A{YH$V_ Cn`moJ H$aZo Ho$ {bE H$moB© EH$ Cnm` 
gwPmBE & 1 

                                               AWdm 

Amn AnZo {dÚmb` _| {~Obr H$m g§ajU {H$g àH$ma H$a gH$Vo h¢ ? H$moB© EH$ gwPmd 

Xr{OE & 1 

2. {ZåZ{b{IV _| go H$m¡Z-gm CÚmoJ ~m°ŠgmBQ> H$m Cn`moJ H$ƒo _mb Ho$ ê$n _| H$aVm h¡ ? 1 

(A) gr_|Q> 

(B) Eë`y{_{Z`_ àJbZ 

(C) bmohm Am¡a BñnmV 
(D) agm`Z 
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General Instructions : 

Read the following instructions very carefully and strictly follow them : 

(i) Question paper comprises four sections  A, B, C and D. There are  

35 questions in the question paper. All questions are compulsory.  

(ii) Section A – Question nos. 1 to 20 are very short answer type questions, 

carrying 1 mark each. 

(iii) Section B – Question nos. 21 to 28 are short answer type questions, carrying  

3 marks each. Answer to each question should not exceed 80 words. 

(iv) Section C – Question nos. 29 to 34 are long answer type questions, carrying  

5 marks each. Answer to each question should not exceed 120 words. 

(v) Section D – Question nos. 35 is map based, carrying 6 marks with two parts, 

35(a) from History (2 marks) and 35(b) from Geography (4 marks). 

(vi) Answers should be brief and to the point; also the above word limit be adhered 

to as far as possible.  

(vii) There is no overall choice in the question paper. However, an internal choice 

has been provided in few questions. Only one of the choices in such questions 

have to be attempted.  

(viii) Attach map along with your answer-book. 

(ix) In addition to this, separate instructions are given with each section and 

question, wherever necessary.    

SECTION A 

1. Suggest any one way to maximize the use of nuclear energy in the field of 

medicine. 1 

                   OR 

How can you conserve electricity at your school ? Give any one 

suggestion. 1 

2. Which one of the following industries uses bauxite as a raw material ? 1 

(A) Cement 

(B) Aluminium smelting 

(C) Iron and Steel 

(D) Chemical 
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3. ^maV _| H$m¡Z-gm g§JR>Z amÁ` _hm_mJm] H$mo ~ZmZo Am¡a aIaImd H$aZo Ho$ {bE CÎmaXm`r  
h¡ ? 1 

AWdm 
Cg g§JR>Z H$m Zm_ {b{IE Omo {Obm g‹S>H$m| H$m {Z_m©U H$aVm h¡ Am¡a aIaImd H$aVm h¡ & 1 

4. ^maV Ho$ {dYm`r joÌ _| _{hbmAm| H$s gh^m{JVm ~‹T>mZo Ho$ {bE H$moB© EH$ Cnm` gwPmBE & 1 

5. àem Ho$ Cg emgH$ H$m Zm_ {b{IE {OgZo O_©Z g§{dYmZ H$mo AñdrH$ma {H$`m Am¡a 1848 
_| MwZr JB© g^m Ho$ {damoY _| Xÿgar AÝ` emgZ ì`dñWm go Ow‹S> J`m & 1 

6. OmnmZ H$s g~go nwamZr, 868 B©. _§o N>nr nwñVH$ H$m Zm_ {b{IE {Og_| H$mR> na IwXo {MÌ  
h¢ & 1 

7. H$WZ H$mo ghr H$aHo$ {b{IE : 1 

 ^maV, ñnoZ Am¡a ~opëO`_ ‘gmW AmH$a g§K’ ~ZmZo Ho$ CXmhaU h¢ &  

                                          AWdm 

g§K gaH$ma Ho$ gmW-gmW amÁ` gaH$ma| amÁ` gyMr Ho$ {df`m| O¡go dZ, ì`mnma g§K, {ddmh, 
BË`m{X na H$mZyZ ~Zm gH$Vr h¢ & 1 

8. {ZåZ{b{IV H$WZ Ho$ {bE EH$ nm[a^m{fH$ eãX {b{IE : 1 

 ‘‘EH$ ì`{º$ Omo EH$ Xb `m g_yh Ho$ gmW _µO~yVr Ho$ gmW g_{n©V hmoVm h¡ &’’ 

9. {ZåZ{b{IV _| go H$m¡Z-gm {dH$ën AXm`Jr gw{ZpíMV H$aVm h¡ ? 1 

(A) dmCMa 

(B) _m±J O_m 

(C) MoH$ 

(D) gmW©H$ G$UmYma 

10. ‘‘h[aVm AnZo H$m`m©b` _| àmV: 9:30 go gm`§ 5:30 ~Oo VH$ H$m`©aV ahVr h¡ & dh ha 

_hrZo Ho$ AÝV _| {Z`{_V doVZ nmVr h¡ & doVZ Ho$ A{V[aº$, dh ^{dî` {Z{Y Am¡a gaH$ma 

Ûmam {ZYm©[aV {Z`_mZwgma AÝ` gw{dYmE± ^r àmá H$aVr h¡ &’’  

 Cg amoµOJma joÌH$ H$s nhMmZ H$s{OE {Og_| h[aVm H$m ©̀ H$a ahr h¡ & 1 
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3. Which organisation is responsible for constructing and maintaining State 

Highways in India ?  1 

                                 OR 

Name the organisation that constructs and maintains the District Roads.  1 

4. Suggest any one way to increase the participation of women in the 

legislative domain of India. 1 

5. Name the ruler of Prussia who rejected the German Constitution and 

joined other monarchs to oppose elected assembly in 1848. 1 

6. Name the oldest Japanese book printed in 868 AD with woodcut 

illustrations. 1 

7. Rewrite the correct statement :  1 

 India, Spain and Belgium are examples of ‘Coming Together Federation’. 

                                OR 

The Union Government as well as the State Governments can make laws 

on State subjects like forest, trade unions, marriage, etc. 1 

8. Give one technical term for the following statement : 1 

 ‘‘A person who is strongly committed to a party or group.’’ 

9. Which one of the following options provides assured payment ? 1 

(A) Voucher 

(B) Demand Deposit 

(C) Cheque 

(D) Collateral 

10. ‘‘Harita attends her office from 9:30 am to 5:30 pm. She gets her salary 

regularly at the end of every month. In addition to the salary, she also 

gets Provident Fund and other facilities as per the rules laid down by the 

Government.’’  

 Identify the employment sector in which Harita is working. 1 
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11. {díd ì`mnma g§JR>Z AÝVam©ï´>r` ì`mnma Ho$ g§X^© _| {Z`_ ñWm{nV H$aVm h¡ & {díd ì`mnma 
g§JR>Z Ho$ {Z`_m| Zo Xoem| Ho$ ì`mnma ~§YZm| H$mo hQ>mZo Ho$ {bE ~b {X`m & BgH$m H$maU 
____________ hmo gH$Vm h¡ & 1 

12. ‘‘_mZm {H$ {H$gr Xoe H$s Am¡gV Am` g_` Ho$ gmW Zht ~‹T> ahr h¡, bo{H$Z Xoe H$s amï´>r` 
Am` Ho$ [aH$m°S>© _| d¥{Õ {XImB© XoVr h¡ &’’ `h pñW{V Š`m Xem©Vr h¡ ? 1 

13. {ZåZ{b{IV ZoVmAm| _| go {H$gZo EH$ Jwá g§JR>Z ‘`§J BQ>br’ ~Zm`m ? 1 

(A) {dŠQ>a B_oZwEb {ÛVr` 

(B) Á`wgono _opËgZr 

(C) H¢$Q> H$mdya 

(D) Á`wgono J¡ar~m°ëS>r 

14. {~«Q>oZ Ho$ amḯ>-amÁ` Ho$ {Z_m©U go g§~§{YV {ZåZ{b{IV KQ>ZmAm| H$mo H$mbH«$_mZwgma ì`dpñWV 
H$s{OE$: 1 

I. B§½b¢S> Am¡a ñH$m°Q>b¢S> Ho$ ~rM EoŠQ> Am°µ\$ `y{Z`Z & 

II. Am±½b g§gX Zo amOV§Ì go VmµH$V N>rZr & 

III. Am`ab¢S> H$mo ~bnyd©H$ `yZmBQ>oS> qH$JS>_ _| em{_b H$aZm & 

IV. {~«{Q>e à^md Ho$ {déÕ H¡$W{bH$ {dÐmoh & 

{dH$ën : 

(A) III – I – II – IV 

(B) I – II – III – IV 

(C) IV – I – II – III 

(D) II – I – IV – III 

15. ____________ EH$ Eogm joÌ Wm, {Og_| ^m¡Jmo{bH$ Am¡a OmVr` {^ÞVmE± Wt Omo AmYw{ZH$ 

amo_m{Z`m, ~wëJo[a`m, Aë~o{Z`m, `yZmZ, _o{gS>mo{Z`m, H«$moE{e`m Am¡a ~mopñZ`m-hµO}Jmo{dZm go 

~Zm Wm & 1 

                                         AWdm 

1815 _|, {dEZm gå_obZ H$s _oµO~mZr ___________ Ûmam H$s JB© &  1 
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11. WTO establishes rules regarding international trade. WTO rules have 

forced the countries to remove trade barriers. The reason could be 

__________ . 1 

12. ‘‘Suppose the average income of a country is not being increased over 

time but the records of the National Income show a rise.’’ What does this 

situation signify ? 1 

13. Who among the following leaders formed a secret society called ‘Young  

Italy’ ? 1 

(A) Victor Emmanuel II 

(B) Giuseppe Mazzini 

(C) Count Cavour  

(D) Giuseppe Garibaldi  

14. Arrange the following events related to the formation of nation-state of 

Britain in chronological order : 1 

I. Act of Union between England and Scotland. 

II. English Parliament seized power from Monarchy. 

III. Ireland was forcibly incorporated into the United Kingdom. 

IV. Catholic revolt against British dominance. 

Options : 

(A) III – I – II – IV 

(B) I – II – III – IV 

(C) IV – I – II – III 

(D) II – I – IV – III 

15. The ___________ was a region of geographical and ethnic variations 

comprising modern day Romania, Bulgaria, Albania, Greece, Macedonia, 

Croatia and Bosnia-Herzegovina.  1 

                       OR 

In 1815, Vienna Congress was hosted by the ___________ . 1 
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16. ~opëO`_ _m°S>b H$s ‘gm_wXm{`H$ gaH$ma’ Zo AÀN>r Vah H$m_ {H$`m Š`m|{H$  
___________ & 1 

17. Am°Q>mo dmZ {~ñ_mH©$ H$mo O_©Z EH$sH$aU H$m OZH$ Š`m| _mZm J`m Wm ?  {ZåZ{b{IV _| go 

ghr {dH$ën H$m M`Z H$s{OE : 1 

(A) CgZo BQ>br Am¡a \«$m±g Ho$ gmW EH$sH$aU à{H«$`m Ho$ {bE gh_{V ì`º$ H$s & 

(B) CgZo ê${‹T>dm{X`m| Ho$ gmW àem H$mo ñdm`ÎmVm àXmZ H$s & 

(C) CgZo amï´>-{Z_m©U à{H«$`m _| goZm Am¡a Zm¡H$aemhr H$s _XX br & 

(D) dh CXmadmXr Am¡a amo_m§{Q>H$ {dÛmZm| H$mo gm§ñH¥${VH$ Am§XmobZ Ho$ {bE gmW boH$a 

Mbm & 

18. amîQ´>r` dZ Zr{V Ho$ {ZYm©aU Ho$ AZwgma nm[apñW{VH$s` gÝVwbZ ~ZmE aIZo Ho$ {bE 

^m¡Jmo{bH$ joÌ H$m {H$VZm à{VeV dZ joÌ Ano{jV h¡ ? 1 

19. {ZåZ{b{IV ñVå^ A Am¡a ñVå^ B _| go ghr Omo‹S>o H$m M`Z H$s{OE : 1 

 ñVå^ A  ñVå^ B 

(A) Á`mo{V~m \w$bo  ñÌr Y_© {dMma 

(B) amOm am_ _mohZ am`  g§dmX H$m¡_wXr 

(C) am_ M–m  Jwbm_{Jar 

(D) J§JmYa ^Å>mMm`©  N>moQ>o Am¡a ~‹S>o gdmb 

20. {ZåZ{b{IV µ\$gbm| _| go H$m¡Z-gr ‘a~r eñ` G$Vw’ H$m CXmhaU h¡ ? 1 

(A) Va~yO 

(B) Iram 

(C) _¸$m 

(D) Om¡ 
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16. The Belgium model of ‘Community government’ worked well because 

_______________ . 1 

17. Why was Otto von Bismarck considered as the chief architect of German 

unification ? Choose the correct option from the following : 1 

(A) He allianced with Italy and France for the unification process. 

(B) He granted autonomy to Prussia with Conservatives. 

(C) He carried the nation-building process with the army and the 

bureaucracy. 

(D) He carried Liberalist and Romantic scholars for cultural 

movement. 

18. How much percentage of forest area is desired in a geographical area to 

maintain ecological balance as outlined in the National Forest Policy ? 1 

19. Select the correct pair from the following Column A and Column B :  1 

    Column A          Column B 

(A) Jyotiba Phule  Istri Dharm Vichar 

(B) Raja Ram Mohan Roy  Sambad Kaumudi 

(C) Ram Chaddha  Gulamgiri 

(D) Gangadhar Bhattacharya  Chhote Aur Bade Sawal 

20. Which one of the following crops is an example of Rabi cropping season ? 1 

(A) Watermelon 

(B) Cucumber 

(C) Maize 

(D) Barley 
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IÊS> I  

21. Xoe Ho$ Am{W©H$ {dH$mg _| gmd©O{ZH$ joÌH$ H$s ^y{_H$m H$m dU©Z H$s{OE & 3 

22. ñd`§-ghm`Vm g_yh J«m_rU {ZY©Zm| H$mo g§J{R>V H$aZo _| _XX H$aVo h¢ & gm_m{OH$ _m_bm| Ho$ 

{bE BÝh| bmoH${à` ~ZmZo Ho$ {bE H$moB© VrZ Cnm` gwPmBE & 3 

23. g§KdmX H$s {H$Ýht VrZ _w»` {deofVmAm| H$m dU©Z H$s{OE & 3 

                                          AWdm 

^maVr` g§KdmX H$s {H$Ýht VrZ _w»` {deofVmAm| H$m dU©Z H$s{OE & 3 

24. ^maV _| nmE OmZo dmbo Xmo àH$ma Ho$ bm¡h-A`ñH$ H$m¡Z-go h¢ ? àË`oH$ H$s Xmo-Xmo {deofVmE± 

{b{IE & 1+2=3 

25. ZrMo {XE JE òmoVm| H$mo n{‹T>E Am¡a CZHo$ ZrMo {XE JE àíZm| Ho$ CÎma {b{IE : 

 òmoV A – Z_H$ `mÌm Am¡a g{dZ` Adkm Am§XmobZ 

 Xoe H$mo EH$OwQ> H$aZo Ho$ {bE _hmË_m Jm±Yr H$mo Z_H$ EH$ e{º$embr àVrH$ {XImB© {X`m & 

31 OZdar, 1930 H$mo CÝhm|Zo dm`gam` Ba{dZ H$mo EH$ ˜V {bIm & Bg ˜V _| CÝhm|Zo  

11 _m±Jm| H$m C„oI {H$`m Wm & BZ_| go Hw$N> gm_mÝ` _m±J| Wt O~{H$ Hw$N> _m±J| CÚmoJn{V`m| 

go boH$a {H$gmZm| VH$ {d{^Þ V~µH$m| go Ow‹S>r Wt & 

 òmoV ~ – bmoJ§m| Zo Am§XmobZ H$mo H¡$go {b`m 

 Jm±dm| _§o g§nÞ {H$gmZ g_wXm` – O¡go JwOamV Ho$ nQ>rXma Am¡a CÎma àXoe Ho$  

OmQ> – Am§XmobZ _| g{H«$` Wo & ì`mdgm{`H$ µ\$gbm| H$s IoVr H$aZo Ho$ H$maU ì`mnma _| _§Xr 

Am¡a {JaVr µH$s_Vm| go do ~hþV naoemZ Wo & 
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SECTION B 

21. Describe the role of public sector in the economic development of the 

country.  3 

22. Self-Help Groups are the building blocks of organisation of the rural poor. 

Suggest any three ways to make them popular for social issues. 3 

23. Describe any three key features of federalism. 3 

             OR 

Describe any three key features of Indian federalism. 3 

24. Which are the two types of iron ore found in India ? Write two features of 

each. 1+2=3 

25. Read the sources given below and answer the questions that follow :  

 Source A  The Salt March and The Civil Disobedience Movement 

Mahatma Gandhi found in salt a powerful symbol that could unite the 

nation. On 31st January, 1930, he sent a letter to Viceroy Irwin stating 

eleven demands. Some of these were of general interest; while others 

were specific demands of different classes, from industrialists to 

peasants.  

Source B  How Participants saw the Movement 

In the countryside, rich peasant communities  like the Patidars of 

Gujarat and Jats of Uttar Pradesh  were active in the movement. Being 

producers of commercial crops, they were very hard hit by trade 

depression and falling prices. 
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 òmoV g – g{dZ` Adkm AmÝXmobZ H$s gr_mE± 

 O~ g{dZ` Adkm Am§XmobZ ewê$ hþAm Cg g_` g_wXm`m| Ho$ ~rM g§Xoh Am¡a A{dídmg H$mo 

_mhm¡b ~Zm hþAm Wm & 

(25.1) òmoV A – Z_H$ `mÌm Am¡a g{dZ` Adkm Am§XmobZ 

 Z_H$ H$mZyZ Ho$ à{V Jm±YrOr Zo {H$g àH$ma à{V{H«$`m ì`º$ H$s ? 1 

(25.2) òmoV ~ – bmoJ§m| Zo Am§XmobZ H$mo H¡$go {b`m 

 g§nÞ {H$gmZ g{dZ` Adkm Am§XmobZ Ho$ g_W©H$ Š`m| hþE ? 1 

(25.3) òmoV g – g{dZ` Adkm AmÝXmobZ H$s gr_mE± 

 g{dZ` Adkm Am§XmobZ H$s gr_mAm| H$s naI H$s{OE & 1 

26. {H$Ýht VrZ VarH$m| H$m dU©Z H$s{OE, {OZHo$ _mÜ`_ go ^maVr` g_mO _| _{hbmAm| H$m X_Z 
{H$`m J`m h¡ & 3 

27. ‘‘g^r àH$ma Ho$ OrdZ Ho$ ApñVËd H$mo ~ZmE aIZo Ho$ {bE g§gmYZ {Z`moOZ A{Zdm`© h¡ &’’ 
Bg H$WZ H$s CXmhaUm| g{hV nw{ï> H$s{OE & 3 

AWdm 

{h_mb` joÌ _| ^y{_ {ZåZrH$aU H$s g_ñ`m H$mo hb H$aZo Ho$ Cnm`m| H$mo CXmhaUm| g{hV 
ñnï> H$s{OE & 3 

28. dZm©Š`yba àog EoŠQ>, 1878 Ho$ AÝVJ©V A§J«oµOm| Ûmam CR>mE JE H$X_m| H$s naI H$s{OE & 3 

IÊS> J 

29. ^maVr` bmoH$V§Ì ì`dñWm _| amOZr{VH$ Xbm| H$s ^y{_H$m H$m dU©Z H$s{OE & 5 

                                          AWdm 

 bmoH$V§Ì _| amOZr{VH$ Xbm| H$s Amdí`H$Vm H$m dU©Z H$s{OE & 5 

30. ‘‘n`©Q>Z, ^maV _§o ~‹S>r g§»`m _| amoµOJma àXmZ H$aVm h¡ Am¡a amï´>r` EH$Vm H$mo àmoÞV H$aVm 

h¡ &’’ Bg H$WZ H$mo Ý`m`g§JV R>hamBE & 5 
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Source C  The limits of Civil Disobedience Movement 

When the Civil Disobedience Movement started there was an atmosphere 

of suspicion and distrust between communities. 

(25.1) Source A  The Salt March and the Civil Disobedience  

                                   Movement 

 How did Gandhiji react to the Salt Law ? 1 

(25.2) Source B  How Participants saw the Movement 

Why did the rich peasants become supporters of the Civil 

Disobedience Movement ? 1 

(25.3) Source C  The limits of the Civil Disobedience Movement 

 Examine the limits of the Civil Disobedience Movement. 1 

26. Describe any three ways through which women are oppressed in the 

Indian society.  3 

27. ‘‘Resource Planning is essential for sustainable existence of all forms of 

life.’’ Support the statement with examples. 3 

                                    OR 

Explain with examples, the ways to solve the problem of land 

degradation in the Himalayan region. 3 

28. Examine the steps taken by the British under the Vernacular Press Act, 

1878. 3 

SECTION C 

29. Describe the role of political parties in Indian democracy. 5 

OR 

 Describe the necessity of political parties in democracy. 5 

30. ‘‘Tourism in India provides large amount of employment and promotes 

national integration.’’ Justify the statement. 5 
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31. ZrMo {XE JE CÕaU H$mo n{‹T>E Am¡a CgHo$ ZrMo {XE JE àíZm| H$m CÎma {b{IE : 

ì`{º$ H$s J[a_m Am¡a AmµOmXr Ho$ _m_bo _| bmoH$Vm§{ÌH$ ì`dñWm {H$gr ^r AÝ` emgZ 

àUmbr go H$mµ\$s AmJo h¡ & àË`oH$ ì`{º$ AnZo gmW Ho$ bmoJm| go gå_mZ nmZm MmhVm h¡ & 

AŠga, Q>H$amd V^r n¡Xm hmoVo h¢ O~ Hw$N> bmoJm| H$mo bJVm h¡ {H$ CZHo$ gmW gå_mZ H$m 

ì`dhma Zht {H$`m J`m & J[a_m Am¡a AmµOmXr H$s Mmh hr bmoH$V§Ì H$m AmYma h¡ & Xþ{Z`m 

^a H$s bmoH$Vm§{ÌH$ ì`dñWmE± Bg MrµO H$mo _mZVr h¢ – H$_-go-H$_ {gÕm§V Ho$ Vm¡a na Vmo 

µOê$a & AbJ-AbJ bmoH$Vm§{ÌH$ ì`dñWmAm| _| BZ ~mVm| na AbJ-AbJ ñVa H$m AmMaU 

hmoVm h¡ &  

(31.1) bmoH$V§Ì, emgZ H$s AÝ` ì`dñWmAm| go Š`m| ~ohVa h¡ ? ñnï> H$s{OE & 2 

(31.2) J[a_m Am¡a AmµOmXr H$s Mmh hr bmoH$V§Ì H$m AmYma Š`m| h¡ ? CXmhaUm| g{hV ñnï> 

H$s{OE & 3 

32. d¡ídrH$aU Ho$ à^mdm| H$mo CXmhaUm| g{hV ñnï> H$s{OE & 5 

                                     AWdm 

 ‘‘àm¡Úmo{JH$s _| Vrd« CÞ{V Zo d¡ídrH$aU H$s à{H«$`m H$mo CËào[aV {H$`m h¡ &’’ Bg H$WZ H$s 

CXmhaUm| g{hV ì`m»`m H$s{OE & 5 

33. ~rgdt gXr Ho$ àmaå^ _| ^maV na _hm_§Xr Ho$ à^mdm| H$mo ñnîQ> H$s{OE & 5 

                                                   AWdm 

 AR>mahdt gXr Ho$ Xm¡amZ ^maVr` ~wZH$am| na Am¡ÚmoJrH$aU Ho$ à^mdm| H$mo ñnï> H$s{OE & 5 

34. ‘‘AbJ-AbJ bmoJm| Ho$ {dH$mg Ho$ bú` {^Þ hmoVo h¢ &’’ CXmhaUm| g{hV Bg H$WZ H$s nw{ï> 

H$s{OE & 5 
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31. Read the following extract and answer the questions that follow : 

 Democracy stands much superior to any other form of government in 

promoting dignity and freedom of the individual. Every individual wants 

to receive respect from fellow beings. Often, conflicts arise among 

individuals because some feel that they are not treated with due respect. 

The passion for respect and freedom are the basis of democracy. 

Democracies thoughtout the world have recognised this, at least in 

principle. This has been achieved in various degrees in various 

democracies.  

(31.1) Why does democracy stand superior to any other form of 

government ? Explain. 2 

(31.2) Why is the passion for respect and freedom the basis of 

democracy ? Explain with examples. 3 

32. Explain the impact of Globalization with examples. 5 

                   OR 

‘‘Rapid improvement in technology has stimulated the globalization 

process.’’ Explain the statement with examples. 5 

33. Explain the impact of the Great Depression on India during the early 

twentieth century. 5 

OR 

 Explain the impact of Industrialisation on the Indian weavers during the 

eighteenth century. 5 

34. ‘‘Different people have different developmental goals.’’ Support the 

statement with examples. 5 
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IÊS> K  

35. (a) Xmo ñWmZ A Am¡a B {XE JE ^maV Ho$ amOZr{VH$ aoIm-_mZ{MÌ (n¥ð> 19 na), _| 

A§{H$V {H$E JE h¢ & BZ ñWmZm| H$mo {ZåZ{b{IV OmZH$mar H$s ghm`Vm go nhMm{ZE 

Am¡a CZHo$ ghr Zm_ CZHo$ {ZH$Q> ItMr JBª aoImAm| na {b{IE : 12=2 

 A. dh ñWmZ Ohm± O{b`m±dmbm ~mJ KQ>Zm K{Q>V hþB© &    

 B. dh ñWmZ Ohm± Zrb H$s IoVr H$aZo dmbm| Zo gË`mJ«h ewê$ {H$`m & 

(b) Bgr {XE JE ^maV Ho$ amOZr{VH$ aoIm-_mZ{MÌ _| {ZåZ{b{IV _| go {H$Ýht Mma  

H$mo Cn ẁº$ {M•m| go Xem©BE Am¡a CZHo$ Zm_ {b{IE :   14=4 

 (i) _rZmå~ŠH$_ — AÝVam©îQ´>r` hdmB© nÎmZ 

 (ii) h¡Xam~mX — gm°âQ>do`a Q>oŠZmobm°Or nmH©$ 

 (iii) {dO`ZJa — bmohm Ed§ BñnmV g§`§Ì  

 (iv) Vmamnwa >— AmpÊdH$ D$Om© g§`§Ì 

 (v) hramHw$S> >— ~m±Y 

 (vi) H$mo{ƒ — g_wÐr nÎmZ 

ZmoQ> :  {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE àíZ g§»`m 35 Ho$ ñWmZ na  
h¢ & {H$Ýht N>… àíZm| Ho$ CÎma {b{IE : 

(35.1) Cg eha H$m Zm_ {b{IE Ohm± O{b`m±dmbm ~mJ KQ>Zm K{Q>V hþB© &  

(35.2) Cg ñWmZ H$m Zm_ {b{IE Ohm± Zrb H$s IoVr H$aZo dmbm| Zo 1918 _| gË`mJ«h 
{H$`m & 

(35.3) Cg ñWmZ H$m Zm_ {b{IE Ohm± ^maVr` amï´>r` H$m±J«og H$m A{YdoeZ {gV§~a, 
1920 _| hþAm & 

(35.4) Cg amÁ` H$m Zm_ {b{IE Ohm± amOm gm§gr AÝVam©îQ´>r` hdmB© nÎmZ pñWV h¡ & 

(35.5) Cg amÁ` H$m Zm_ {b{IE Ohm± {^bmB© bmohm Ed§ BñnmV g§`§Ì pñWV h¡ & 

(35.6) Cg amÁ` H$m Zm_ {b{IE Ohm± Vmamnwa AmpÊdH$ D$Om© g§`§Ì pñWV h¡ & 

(35.7) Cg amÁ` H$m Zm_ {b{IE Ohm± nmamXrn g_wÐr nÎmZ pñWV h¡ & 

(35.8) Cg gm°âQ>do`a Q>oŠZmobm°Or nmH©$ H$m Zm_ {b{IE Omo Vob§JmZm _| pñWV h¡ & 1 6=6 
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SECTION D 

 

35. (a) Two places A and B are marked on the given political outline map 

of India (on page 19). Identify these places with the help of the 

following information and write their correct names on the lines 

marked near them :  12=2 

 A. The place where Jallianwala Bagh incident took place. 

 B. The place where Indigo Planters started the Satyagraha. 

(b) On the same political outline map of India locate and label any four 

of the following with suitable symbols :  14=4 

 (i) Meenambakkam — International Airport  

 (ii) Hyderabad — Software Technology Park   

 (iii) Vijayanagar — Iron and Steel Plant   

 (iv) Tarapur — Nuclear Power Plant    

 (v) Hirakud — Dam   

 (vi) Kochi — Sea-port   

  

Note :  The following questions are for the Visually Impaired Candidates 

only, in lieu of Q. No. 35. Attempt any six questions : 

(35.1) Name the city where Jallianwala Bagh incident took place.  

(35.2) Name the place where Indigo Planters went for Satyagraha in 

1918.  

(35.3) Name the place where the Indian National Congress (INC) 

session of September, 1920 was held.   

(35.4) Name the State where  Raja Sansi International Airport is 

located.  

(35.5) Name the State where Bhilai Iron and Steel Plant is located.  

(35.6) Name the State where Tarapur Nuclear Power Plant is located.   

(35.7) Name the State where Paradip Sea-port is located.  

(35.8) Name the Software Technology Park located in Telangana. 16=6  
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àíZ g§. 35 Ho$ {bE  For question no. 35 

 

^maV H$m aoIm-_mZ{MÌ (amOZr{VH$) 
Outline Map of India (Political) 
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